2033 . 07.
7 TREE TR - 706

TN (F8 5 32Rh))

BT Q ol A Hrie, ca52E A = T
PCAsY= | — PA)

A?ll\b_ p
(Za8R ) )

%%%& ek t) S =AUAS | AnAC=g
AAX N2 . (=352

{ = PCS) = PCAUVAS) = P@)+ PCAC)

() tL— Z=3

Hen
PCASY= [~ PCA) Z)

Bl 4 BEE £ Do IE 2arA T
g et | FHE D end B Ao SR
FANS. R ARE (3 A4S A Tane gl

S: {(l‘{)H)(’{;H)-’ ({—(’T’H)(Fr))__._/ (—ET)T)Tk
FS= * = (6

Lot} € § (Ro(fBednu =%h)

Pcacy=1— Pcay & P@) = (- Pcac)
= - L= 'S
S S o



R (. BER @ 24N p0ETR )
TRAZR O n & CCBBRAEE AL, A=

VX e AL,
PCAUVA-U--UA ) = PCADN+PCA Y+ +PCAR )

7
@@A) Im = BY 9% ‘J%ém?i(: NN
M= 2 Nex C A 3 A C § Tt A‘QAZ: 75)

PCALA,)Y = P@)+ PrAs)
43;%3

m>k0\t* Pﬁcau UARY= PAY -+t PAAR) D

%“?i Aepqa € S & 2 A A Pl & § s AR 3}
A= Au-UAer € 2 e Aeq N A= sl

p(AU A e+ \ = P(A) 0 P(Ak—ﬁ )
03k 2
= P@)+P@A Y+ T PlAe) + P(Ae)
(g

(B P, M=t acx € F L0 %)



R 3 (hh D% e HTL pustE )
ﬁi‘éﬁaﬁ $on %‘f’bﬁ A B 52, SR P& >

PCALUB Y = Pcay<=PB)Y - PCA~B ) .
7
(==BR )

C:
C D:
E

A B

socx C,D,ECQ (3 Guc HERUBR 253
PCAUB\:D(CQD v B = PCc)+P(D)‘t

A A BC
AnB
A

L]

Pce)
O
S %A =CUD &S {Pcm: PCCI+PCD) -

B=DuvE PB)= POdY+PCE) (D
O =@, O 2N

PCav B = P(c)—v’Pgb\ « E\@@
= P © PCRY-PCD)
coPcauR)

= P (&) +PC(B) ~P(AB)

&



